(€) JTDE JoPsw dodeo I6d e8dh A.005.0. I HBES et
(d)  Sr38 JoPiw aoteo Sod eodahd &.a05.0. DPBLRS stokess

44.  One of the following cloning vector can carry DNA insert of 500-3000 kb,
() YAC (b) BAC
(c) Cosmid

(d) Plasmid pBR 322
o8 206" D £100R e 500-3000 Kb, &.665.0. > 85520t

(a) YAC ) BAC
(€) =yt (d) a5 pBR 322
Test No.: 101 12 P

45, Ninhydrin reagent reacts with which of the following functional groups

Bo8 TSE" D Sairsk iy ASIAS 655506 BairkS e
(a) -OH b COO”
(¢d -NH: {(dy -SH

46. f-Amylaseisan
(a) endo-acting enzyme catalyzing the hydrolysis @ -1 — 4 glycosidic linkage
(b) exo- acting enzyme catalyzing the hydrolysis @-1 — 4 glycosidic linkage
(c) endo- acting enzyme catalyzing the hydrolysis f-1 — 6 glycosidic linkage
(d) exo- acting enzyme catalyzing the hydrolysis f-1 — 6 glycosidic linkage
f - S0B5 ensh
(a) wwa-lqagmsmww
(@) IFeirgol JoBd a-1 - 4 PSS Dolaln IpE"pd I8
(© - do&airgoR 20p% f-1 - 6 ASHAE Bctan InEpd I08
() IFSrgoR 2o f-1 - 6 ASDAE dolan I E'pd Jx08

47. One of the following enzymes is not a serine protease

(a) Protinase K (b) Elastase
(¢) Trypsin (d) Papain
B08 JoBswed® B8 HAS prddlb s

(@) PYUIDK b)) JRd
© e @ Svows

48. Which one of the following hormone stimulates interstitial cells of gonads?
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208 T2&* D FGh das%ine"n nonbytiand ¥ntnom adattdta?

(a) LH (b} GH
(c) FSH d T
49. r!"recursmhminnlddinthnhimthﬁia of catecholamines is
(a) Tyrosine (b) Tryptophan
() Phenylalanine (d) Taurine
5o Moos), dacRhesnd’ Frigrao oSt et D87
(a) 868 ®) 8PS
© 335205 @ e85
A 13 Test No.:101
g (2204,
50. One of the following hormones docs not use cAMP as a 2™ messenger for signal
transduction
{a) Calcitonin (b) Glucagon
(c) Insulin (@ LH
08 36" D PE cAMP o did erfEEyS6* Lot AoSonber d3@rRotE
(a) =Ous*S ®) Kpsms
(© =9pds (@ LH

51. An enzyme that catalyses the reaction X 2 Y changes the
(2) heat of reaction
(b) rate of both the forward and backward reactions
() equilibrium constant
{d) entropy of the reaction

X2 Y 8airgSso Jogaw a@yn Saioeses SORS Sriy
(@) B6%Hw

®) 6%, HEan Be Bew

(<) WM

@  6arryS @y, dousD

52. One of the enzymes is activated by diacylglycerol

(a) Protein kinase C (b) MAP Kinase

() Protein kinase A (d) Tyrosine kinase
o8 726" D doBaw B-2pdRiod oo aBosedi

() pdSzEC b MAPZAE

& 25238 @ 59528
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53. The bacterial RNA polymerase sub-unit that recognizes the promoter region is,
EoB DG D erglbai>d RNA-2058E 56 cfardes, 3206 88555 Hosutn,

(@) p- ® o-
© F- d a-
54. The conversion of pyruvate to oxaloacetate requires one of the following as a coenzyme
(a) Thiamin (b) Vit. Biz
(¢d FAD (d) Biotin
IS 008 esS IRES SrGHAL sl §-doBsw H8?
(a) Po0d (b) D25 Big
() FAD d) o385
Test No. : 101 14

55. Exposure of DNA to short wave UV radiation results in

{a) base deletions (b) purine dimers
(¢) pyrimidine dimers (d) &ingle strand nicks
DNA %0 2§ 35 UV 3280505 aibosiisms 309 D20 sts?
(a) 85%ada% b) DS Beedotin
(© H80dS Bgusosin (d) PoRd grok of

56. Which one of the following gluconeogenesis enzyme is unique to animals?
(a) Enolase (b} Aldolase
(c) Phosphoglyceromutase (d) Fructose 1, 6-bisphosphate
Brosorad” 3 ArEaairanhnh JoBhw solinped” Sriy dotxio?
(a) =585 ®) ogds
© SRSTBargBH VD PER 1, 6-0hpind

57. A solution of 0.1 N NaOH has,
(a) 107 M concentration of H* jons (b) 107 M concentration of H* ions
(&) 10 M concentration of H* ions (d) 10" M concentration of H* ions
0.1 N NaOH e’ Do dodin?

(@ 107 Mmgs H' edr® @) 107 Mmés H* edirw
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(© 107 Mmrgs H' oaird (@ 10° Mmgs H' edir

Lel

58. All the following biochemical reactions occur in the mitochondria of mammalian cells

EXCEPT,

(a) . Fatty acid biosynthesis (b) S -oxidation of fatty acids

() DNA synthesis (d) Protein synthesis

Bod 06" O Gargd Nfowod, WADS Bairgly WHOALS SoBn QWY
DS'ToBairs’ st

(a)  PrgtS-esioio BSSCEIERSD ®) B-edESS of oy elgiw

(© DNAScitedn (@ @3S Sogdedn

A 15 T&W

59. Which of the following dose NOT make direct use of pH or proton gradient?

(a) Mitochondrion (b) Cynobacterium

{¢) Bacterial Nagellum (d) Protozoan cilium

208 T0é" DB pH BY Pters ROHHBR [SBgtsoor aNarRosEies?

@) WuS'wodar ®) panSagdsans

(© egoadd 3ed (d) 25" eSS
60. The eukaryotic chromosomes have specialized structures at their end that are  called as

(a) Terminators (b) Kinetochores

() LTRs {(d) Telomeres

DeBoEs SHos'D §BrE o 958 &) (585 Domeints H50ok?

(a) Gﬂéﬁnﬁg (k) FASTEEG

(& LTRs @ S5
61. One of the following methods is used for sequencing peptides,

() Gilbert reaction (b) Edman degradation

(¢} Max degradation (d) Ramachandran degradation

swm:sgmuaamw?
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(@) Ry Batrus

(€ 508 pssssnn

b))  SEIS EHoSuba

(d)  ododoEis Ehosnan

UZ.  Which structure is usually present only in animal cclls?

(a) Centriole

(b) Vacuole
(c) Cell membrane {(d) Nucleus
£08 TS D DoREB Loty EnSnes S dokiin?
(@) woPidrd b) D@rS
© Sood @ Srgand
Test No. : 101 16

63. Most cell membranes are composed principally of

(a) DNA and ATP
{(¢) Lipids and Proteins

(b)
()

Chitin and Starch
Nuclootides and Amino acids

ﬂﬁmmmﬁﬁmmwmmm
®) 34558050 8

(a) DNA 3o8c0 ATP

(©) OE)BoBain @43,

64. How many genes constitute the human genome?

{(a) More than 1 million

{¢) 23 pairs

S B35 2 eophoto YOR dotio?
(8) 1200058 S0l dXnS
(©) 23wbw

G5. Apparent K, is found to be increased in,
(a) Non-competitive enzyme inhibition
(c) Competitive enzyme inhibition
&yt K, B06" BENOII G0t

file:///C:/Users/JBIGDEAL/Desktop/Biochem-10.htm

(d Arg@rpl 5:8cain 625" esuoim

(&)
(d)

)
(d)

(b)
(d)

4 Mb
about 3x10*

4 Mb
A 3x 101

Allosteric enzyme inhibition
Uncompetitive enzyme inhibition
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(a) H-sobd85 JoPiw 26%EI0 (®) SR8 doPsw 26GESN
() Tobda5 dopdn a5'Gean (d) ©S-soddedS doRaw a6%san

66. Mutations can be considered as one of the raw materials of evolution because they,
(2) are usually related to the environment in which they appear
(b) contribute to new variations in organisms
(2}  are usually beneficial to the organism in which they appear
(d) uuﬂirum-pudﬂutwpnhm:nnbmmauﬁm
Q0S50 GBBIEIRB JOFBHEIBNG" SNPRS st HEY,0LBN
(2) 2ordmom TEBSnSD Sovcfods S 0 Lo
() E9os’ 4k 6 Poarye Sr<Bow
(€©) oo dood’ £0dodo ASArINEEIY

@) Aodnom saiisedly #ped’ £y o Snispoan

A 17 Lssthioeul0l
77. Hormone response elements have been identified in many genes regulated by
(8) Steroid hormones (b) Protein hormones
(c) Peplide hormones (d) Glycoprotein hormones
688 migpod’ HEF oSt HDods Babo®edd D7
(a) Porond HES () 43S s
(©) V5o ) ACBS ey
78. AIDS virus infects one of the following cells,
(a) Hepatocytes ) CD#
{¢) RBC (dy WBC
AIDS 255 9 Sradovoi Sostons Sakoso
(a) Irss* Emdoan (b) CD4*
{¢) RBC (d) WBC
79. Some ﬁfn.um: have increased the coding potential of their genome by,
(a) using a degenerato triplet code ()  wsing host ribosomes for translation
(¢) integrating into host genome (d) using alternative splicing sites
£ 200 N d5'SH @y, 580K #20 D Do Doty
(0) HGHEODSEE a3@rfod ) e e8ian S A8 fod

(€) ©03cH 556" Kot wid @ 25083 3ok pasts a3@rRod

80. One of the following acts as n cellular antioxidant,
(2) Glutathione (b) Nitrie oxide
() Ca* i O.
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2o st uﬁmwubmﬁ'ﬂ;dn:m

(a) 0uPArS ®) N eE
() Ca* @ o,

8l. Iron supplementation for anemic subjocts will improve
(a) Anaecrobic power (t) Hemoglobin
(c) Ventilation during maximum work (d) WBC eount

BEr6 a3 3588 055 530S anguo 6 H> 3 Sakwwy?

(a) eratnds ¥ ® >Arf'el
(c) mrdﬁm 2o Trdl B0 (d) WBC o
ﬂ ( L ﬂ - - - " - "
interforence would effectively Block which of the following calluter ms oribosomes. This
(a) Translation (b) Photosynthesis
() DNA replication (d) Transcription
R The dodudirdier (begsur ogdsand pERane 30¥8osx. Adsed
D ¥adonoss b BTSN eS6 Gotendm
(a) wr5HBaS ®)  5"DoEND (Soeenisy Sod@rndab)
(©) DNAZFESS @ S
Test No. : 101 20 A
83. Which one of the following biomolecules shows tautomerism?
(a) Lysine (b) L-Rhamnose
(¢} Adenine {(d) Cholesterol
208 06" D dovvuen SoSabBeRo SOR doc?
(a) DA () L-odmd
(c) oa3S ) Sajod
84. mi::::;ir;;f blood vessel wall lining, and a progressive narrowing of the vessels is
{(a) Myocardial ischemia (b) Arteniosclerosis
(c) Atherosclerosis (d) Angionecrosis
BETO Dk, RS S38uch 538050 o Eank), Sogsn Syr 358 Beabh Ha?
(a) 1ol Sodore BY (S350 D6 (b) &S00 D0
(©) oo Ag¥ddeo (d) ©odBrIENS

85. Which of the following best describes the précess of cell differentiation?

Specialized i i i i
() 8 ﬁr:n B m found in the fertilized egg are segregated to different types of

(b) Chnm p inmgﬁ:a cxpression result in the synthesis of specific proteins found in

(¢) Cells on the surface of the blastula i iali
calls (het male s Sl p;:nmmwnrd and form specialized sheets of

(d) Changes in enzymes in cells result in alterations of the metabolic rates
Bo8 D6 08 S e58en BB e 387
(8) Selia vodSnd"d 5858 BaSi JBE S50 VL6 Eestan Somes Do
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®) S5 DHEISE" 3% S8g¥ Seros” dod ST > BaireSies

() Wmmwmmwﬁmw%mm
BY; >Sa 6o 308

@ Seos’ ok JopSooss 3ty Sabeoden Jws'dE Bus* eg8ng) stmon

86. One of mit ‘En!m metal cluster cation is involved in photolysis of water in
(a) Molybdenum (b) Magnesium
(€) Zine (d) Manganese
Mm?ﬂ@mmmmwnﬁwmﬂm
(a) Srdgads ) Dfphalo
(c) o8 (d) Srorthh
E5. Which one of the following amino acid is the precursor of Nitric oxide?
@) Arginine ® Tryptophan
= Tyrosine (d) Histidine
S e Es oo ©% e205° edysn 587
w  ogaS B s
© g5l @ pas
A 21 Test No.: 101

[P.T.O.]

88.  Which of the following best explains how plants store surplus glucose for future use?

(a) Glucose is stored directly in the intercellular spaces of specialized organs of the
roots and stems

(b) Glucose is converted into glycogen, which is stored in dense clusters within the cell
mitochondria
(c) Glucose is converted into starch, which is stored as granules within plastids

(d) Glucose is converted into cellulose, which is stored within the cell walls of the cells
of the stem and leaves

HEwer o546 eBHHINOH 685 MPEHH R PR BHSTDS 58 wvom
48i5BoD07

(a) 3 DoBain Solins” Poi roprieners InSHE® Krste devs Hotwos

() ARSE S A 306 Sys Sy PSoSairs’ pexs Hotwod

(c) NrS"E gByv 56, prirgdyr hE06" daxd Hotwod

@) K88, Dergs'dm 508, Sotin L8 Spre B, EnbiTed® dosd Howwosd

89. In the process of photorespiration
(a) O, and water is consumed (b) CO; consumed and O, is produced
(e} O, consumed and CO, is produced (d) CO, is consumed

e B B e el .
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S 'nw g g N
(a) O, BBaiv H,0 d0d@rie (b) CO, sudirio obdiw 0, eonds
() O, 20&@rfo 2B CO, aonis  (d)  CO, 20&rio

90. In anintact cell, the free energy change associated with an enzyme-catalysed reaction is

frequently different from that of standard free en eh for t reactio
because, in the intact cell the, A e i

(a) activation energy is different

(b) reaction is always at constant temperature

(c) enzyme may be allosterically regulated

(d) reactants are not present at IM concentrations
a@hﬁw%wm@a@.wgwwﬁﬂm
DodioEol) Jnko Eestuws”

@ 2B oFISS 23f

(®)  POBD doippcir 2 dard 55

(©)  JoBd, IEPEEET achoosnd doko
@ Garesse IM mEso 815 Hosd

Test No. : 101 29
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